


FAH9] 1709 54 374E BA0] 9 1), Lol 5 Gl BE 9]

52 Fotofel,

B e 714



127)9] A] ol A AL 4 ek AL A
4, A%cto] T A AE B 1), T A B

1
®ﬁ @ — e — @ —



@ Wd

@ 94

—

<



Hit &2 bR ABCD 7F ARGl 7] flet =3

\J}/

® ¢/ABO = /CBO @ BO =DO
® AC =BD @ /0AD = /ODA
® AB=CD



6.

ATy = 2ax +3 S y 2
y=-2x+b7} 2 W, ab 9] 327

® -1 @ -3 ® 2

Kl

Fozg -5



™

mx—+y
2x+y

a
|




e T 2

2o 70| 9t} A oA C 712 A~ B——~C
e Haprte —

o
PHe nE o ° —" —
HHe - i 712|017

@ 571 @ 774 3 8714
@ 127k ® 16714



9.

e 27004 Aol 2271 B

[

2 582 T

5 9] A9 B4l B
0] 8 g, FHA TS

!

o, 2 A
2

=) VA ST

FAGle] L2
b

S AT by RER S AL (a b) 2T T
YA |
|
ic
2.5p----- oo
|
D
1 Ly
9) 2.5 T
1 1 1 1 1
D3 @ 3 5 D 3 ®3




1

0.

1o
Mot
=S

@

Sle

A 20 74A1 9] =7t 247 A1 20 0] FFECA] Pz 7
2w, 2 57F3 o M4 B 5 O] Bj5d e

@

[SAUI

®

N | =
®
| eo
©
| o



11. to& 2”4 aABC & AB = BC ¢l o|5¥4Z
S B $2) e AL nE T2H(HH 270)
A
50°
B D C
@ /B = /CAD °]t}.
@ (B ¢} /BAD 9] Z27]9] & 65° o]t
@ BD ¢ AD 9] 2ol A=z Zrt.

@ aABC 2 AACD 9] E7}9] A7) BF 2,

® /(B 9} /BAD 9] A7|&= Ztt



12. o I A A 17 aABC 2] WAL o, zx = (
( ) Qtoll YBre =5 oA Q.

A
A

30° Q

)° ol



13. o} "HPAPHETE ABCD ©f|A4 £ABD = 41°,
(ACD = 68° & W, za + /b 2] 327 (,
(DAC = za, tDBC = ¢b)

O 60° @ 71° ® 80°
@ 109° ® 100°



14. o 19 HAAE ABCD 9] Hizt4del 4 A
°]7} 8 cm o[}, o|u] oABCD 9] Hol=?

® 8cm? @ 16 cm?

@)

® 32cm? @ 64 cm? B

® 128 cm?



Ty = —dx+ bollA x3tol 64 o, ygtol 42t

ot

ol
=

15.

@ 6 ® 10

® 4



16.

A Al A (2, 1), (2. 2), (a, 47
a ©] FH& Fatolet,

> L
=F



1 - .
17. y=gx-5 o defze] s Aoz §2 2

© y=-2(5r-2) o ehmet gapsich
@ y= g (2x+4) o Teme} W) g,
® y=2x o] Tems} v,

@ y=-5(-x-3) 9 T} vy

2 —
©y= g(x+6) o] 2 ZE x
WFes A4 I8 & e 2=

o

29

Zo|ggon T
1



P =
T a, b_Q,] ot}a"i_b'gl%’t%()

@ 12 ® 13



19. 10L & A7t Eol%=
10 Eopc} 0.5L 4 A4 7ot
e FSyer o, x 2ty

715

D y=10-005x @ y=3x-10 @ y=10-3x

@ y=005x-10 & y=10-0.02x



20
o1
, 2
, 3
A A '
i o
> 25 i
0 o
1:]—7_\}2]1—? Sy
7H/\ L/VJ
TE o
& Tojole "
i g3to] The
. pi }\-ﬂ ;q-
21 9]

o e
7}A]



7H21E ==t

s

=
—

the A9 57} of

21.

STl M=

@ 5 719

B0l %

, E0tE 5 719 3t 5 2 7 9]
[e]
©

W oor o

+HF s




38 974 e ol

=
=

A1)
y=ax+b%ty=bx+c7}%

=
T

22.

A
=

71



23. thg 17°] WYAWY ABCD o tfete] BC = FC,DC = BC <
o, T el A WAL B R A

@ 174 @ 27 @ 374 @ 47 ® 571



#)7to] e},

Wzte] 27174

gt

Q

o

)

@ 2 7 @ 37 @ 4 7 ® 574

@ 174



25. & O3 T8 AABCOA AE: EC=3:4,BO:OE =3 :2
o|th. AEOC 9] Ho]7} 8em? ¥ W, AABC 9] Ho]=?

A
I
D
9)
B C
@ 20cm? @ 24cm? @ 28cm?

@ 32cm? ® 35cm?



